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T1: Silver birch (12m): Reduce height by 3m, shape and crown thin by 30%  

T2: Silver birch (9m): Reduce height by 2m, shape and crown thin by 30%  

T3: Silver birch (8m): Reduce height by 1m, shape and crown thin by 30%  

T4: Cherry (8m): Reduce height by 1m and reduce back from garden by 1m  

T5: Cherry (8m): Reduce height by 1m and reduce back from garden by 1m  

T6: Magnolia (5m): Reduce height by up to 1m and shape leaving both trees same height  

T7: Magnolia (5m): Reduce height by up to 1m and shape leaving both trees same height  

 


